
16×1=16

1.

(a) (b) (c) (d)

2.

(a) (b) (c) (d)

3.

(a) (b) (c) (d)

4.

(a) (b) (c) (d)

5.

(a) (b) (c) (d)

6.

(a) (b) (c) (d)

7.

(a) (b) (c) (d)

8.

(a) (b) (c) (d)

9.

(a) (b) (c) (d)

DUM DUM K. K. HINDU ACADEMY (H.S.)

Half Yearly Examination  — 2019

HISTORY

Time : 2 Hrs. Class - XI F.M. - 50

History (XI)DDKKHA [ 4  ]

4. 8

5. 8



History (XI)DDKKHA [ 3 ]History (XI)DDKKHA [ 2  ]

10.

(a) (b) (c) (d)

11.

(a) (b) (c) (d)

12.

(a) (b) (c) (d)

13.

(a) (b) (c) (d)

14.

(a) (b) (c) (d)

15.

(a) (b) (c) (d)

16.

(a) (b) (c) (d)

1×10=10

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

3×8=24

1.

2+6=8

2.

2+6=8

3.

8



A. 13×1=13

1.

(a)  (b)  (c)  (d) 

2.

(a)  (b)  (c) 

(d) 

3.

(a)  (b)  (c)  (d) 

4.

(a)  (b)  (c)  (d) 

5.

(a)  (b)  (c)  (d) 

6.

(a)  (b)  (c) (d) 

7.

(a)  (b)  (c) (d) 

8.

(a)  (b)  (c) (d) 

DUM DUM K. K. HINDU ACADEMY (H.S.)

Half Yearly Examination  — 2019

POLITICAL SCIENCE

Time : 2 Hrs. Class - XI F.M. - 50



9.

(a)  (b) 

(c)    (d) 

10. 11

(a) 1949  (b) 1950  (c) 1952 

(d) 1955 

11.

(a)  (b)   (c) 

(d) 

12.

(a) 1947  (b) 1949  (c) 1950 

(d) 1952 

13.

(a) 390    (b) 395   (c) 450   (d) 550

B. 13×1=13

1.

2.

3.

4. ‘The State will wither away’ 

5.

6.

7.

8. ‘Representative Government’ 

9.

10.

11.

12. ‘Leviathan’ 

13.

C.

1. 8

8

2.

8

3+5=8

3. 8

Pol. Sc. (XI)DDKKHA [ 2  ] Pol. Sc. (XI)DDKKHA [ 3 ]
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DUM DUM K. K. HINDU ACADEMY (H.S.)

Half Yearly Examination  — 2019

BENGALI

Time : 2 Hrs. Class - XI F.M. - 50

Beng. (XI)DDKKHA [ 4 ]

+

× =

+
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‘Esperanto’ 

Hopeful Holly

World Voice

× =

IPA 

× =

+ +

× =

+

+

× =

+

× =

× =

+ + +

+ +

× =

+ +

+ +



DUM DUM K. K. HINDU ACADEMY (H.S.)

Half Yearly Examination  — 2019

EDUCATION

Time : 2½ Hrs. Class - XI F.M. - 50

1. 1×13=13

(i)

(a)

(b)

(c)

(d)

(ii) Educare 

(a)

(b)

(c)

(d)

(iii)

(a)

(b)

(c)

(d)

(iv) “Curriculum” 

(a) Curri

(b) Currere

(c) Culture

(d) Cate

(f)

(g)

(h)

(i)

(j) 3H
S 

(k)

(l) ‘Logos’ 

(m)

3. 3×8=24

(i)

2+6

(ii)

8

2+6=8

(iii) (a) 

8

Or,

(b)

2+6

Education (XI)DDKKHA [ 4 ]



(x)

(a)

(b)

(c)

(d)

(xi)

(a)

(b)

(c)

(d)

(xii)

(a)

(b)

(c)

(d) CCTV

(xiii)

(a)

(b)

(c)

(d)

2. 1×13=13

(a)

(b)

(c)

(d) Adolscence 

(e)

Education (XI)DDKKHA [ 3 ]Education (XI)DDKKHA [ 2 ]

(v)

(a)

(b)

(c)

(d)

(vi) ‘Psyche’ 

(a)

(b)

(c)

(d)

(vii)

(a)

(b)

(c)

(d)

(viii)

(a)

(b)

(c)

(d)

(ix)

(a)

(b)

(c)

(d)



DUM DUM K. K. HINDU ACADEMY (H.S.)

Half Yearly Examination  — 2019

GEOGRAPHY

Time : 2.15 Hrs. Class - XI F.M. - 50

1.

1×18=18

(i)

(a)

(b)

(c)

(d)

(ii)

(a)

(b)

(c)

(d)

(iii) ‘S’ 

(a)

(b)

(c)

(d)

(iv)

(a)

(b)

(c)

(d)

3+2+2

(iii)

3+4

2+5

Geo (XI)DDKKHA [ 6 ]



(x)

(a) ‘C’

(b) ‘P’

(c) ‘L’

(d) ‘S’

(xi)

(a)

(b)

(c)

(d)

(xii)

(a)

(b)

(c)

(d)

(xiii) E.W. Zimmenmann 

(a) The Resource

(b) The World Resource

(c) The World Industries

(d) The World Resource and Industries

(xiv)

(a)

(b)

(c)

(d)

(xv)

(a)

(b)

(c)

(d)

(xvi)

(a)

(b)

(c)

(d)

(xvii)

(a)

(b)

(c)

(d)

(xviii)

(a)

(b)

(c)

(d)

2.

1×11=11

(i)

(ii)

Geo (XI)DDKKHA [ 4 ]Geo (XI)DDKKHA [ 3 ]
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(v)

(a)

(b)

(c)

(d)

(vi)

(a)

(b)

(c)

(d)

(vii)

(a)

(b)

(c)

(d)

(viii)

(a)

(b)

(c)

(d)

(ix)

(a)

(b)

(c)

(d)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x) MAN 

(xi)

3.

7×3=21

(i)

3+4

3+4

(ii)

2+2+3



DUM DUM K. K. HINDU ACADEMY (H.S.)

Half Yearly Examination  — 2019

COMMERCIAL LAW & PRELIMINARIES OF AUDITING

Time : 2.15 Hrs. Class - XI F.M. - 50

Part-A

COMMERCIAL LAW

Group - A

1. 1×8=8

(i)

(ii)

(iii)

(iv)

(v)

2 (h) 2 (e) 

2 (c) 2 (b) 

(vi)



(Essential Elements of Agreement)

Group - D

4. 5×1=5

(i)

(No consideration, No Contract. Exceptions to this Rule)

Part-B

PRELIMINARIES OF AUDITING

Group - A

5. 1×8=8

(i) ‘Audit’

(ii)

1950 1949 

1951 1948 

(iii)

(iv)

(v) 2000

(vi)

(vii)

1900 1845 

1930 

(viii)

Group - B

6. 1×4=4

(i) ‘Audire’ 

(ii)

(iii) (compensating error) 

(window dressing) 

(iv) (Misappropriation of Assets)

Com. Law (XI)DDKKHA [ 4 ]Com. Law (XI)DDKKHA [ 3 ]



(Manipulation of Accounts)

Group - C

7. 4+4=8

(i)

(Accounting) (Audit) 

(ii) (Error of Ommission) (Error of

Principle)

Group - D

4. 5×1=5

(i) (Advantages of Auditing)

(Role of

an Auditor in regard to Fraud)

Com. Law (XI)DDKKHA [ 5 ]Com. Law (XI)DDKKHA [ 2 ]

(vii)

(viii)

Group - B

2. 1×4=4

(i)

(ii)

(iii)

(iv)

Group - C

3. 4+4=8

(i)

(ii)

(All contracts are Agreement but all Agreement are not

contracts)



DUM DUM K. K. HINDU ACADEMY (H.S.)

Half Yearly Examination  — 2019

BIOLOGICAL SCIENCE

Time : 2½ Hrs. Class - XI F.M. - 50

× =

CCK-PZ 

× =

+

Rh-factor 

Bio. Sc. (XI)DDKKHA [ 2 ]

× =

+

+

Ca++ +

× =



DUM DUM K. K. HINDU ACADEMY (H.S.)

Half Yearly Examination  — 2019

MATHEMATICS

Time : 2½ Hrs. Class - XI F.M. - 50

1. 1×5=5

(i) i2017 + i2018 + i2019 + i2020 

(a) i   (b) –i  (c) 1   (d) 0

(ii)      2523  xxfxf   0f

(a) 0   (b) –2   (c) 2   (d) 1

(iii)  .......2,4,6,8 

(a) 2  (b) 4  (c) 6  (d) 8

(iv) 034  cyx 2

C 

(a) 4   (b) 3   (c) 5   (d) 10

(v)
1

1
1 



x

xLim
x

(a)  1   (b) –1   (c) 0  (d) 

2. 2×5=10

(i)  
24

4




x

x

xf     11  xfxf

(ii)    43:,51:  xxBxxA

BA 

(iv)




cosba

bcosa
cos  








 










 
2

tan.
ba

ba

2
tan

Math (XI)DDKKHA [ 4 ]



1
36

y

100

x 22

 Ry,x,iyxz 

(iv) (3, 5) 1y2x 

14y3x2 

(Or)

1
b

y

a

x
 3y9x7  07xy2 

015y6x5 

90° a b

(v)
y2

y2sin

yx

ycosxcos
22

22
Lim

yx 





4. 5×3=15

(i)

  03o11xi35x6 2 

(ii) 3

1

2x

2




(iii)
 

1
Asin

Csin

Ctan

BAtan
2

2




CtanBtan.Atan 2

Math (XI)DDKKHA [ 3 ]Math (XI)DDKKHA [ 2 ]

(iii) iZ 33 Modulas Amplitude

(iv) 4
10cos

3

10sin

1







(v)  
3

1
tan   

2

1
tan 

3. 4×5=20

(i) A, B, C 

     CABACBA  

(ii)
xsin1

xcos

ytan

xtan
2

2






   yxsin7yx3sin 

(Or)

   
2

3
120cos102coscos 222 

(iii) n P 

2n 3P 3n 

7P

 (Or)

208z8z 



DUM DUM K. K. HINDU ACADEMY (H.S.)

Half Yearly Examination  — 2019

COMPUTER APPLICATION

Time : 2.15 Hrs. Class - XI F.M. - 50

Group - A

.A .

1.

(a) (b)

(c) (d) UVP ROM

2. Impact Printer 

(a) Inkjet Printer (b) Thermal Printer

(c) Dot Matrix Printer (d) Laser Printer

3.  ICU-

(a) (b)

(c) (d)

4. Visual Basic  Choose

(a) List Box (b) Check Box

(c) Option Box (d) Text Box

5. Visual Basic Loop control Statement ?

(a) If statement (b) Go to statement

(c) For-Next Statement (d) Select case statement

6. V.B.6.0 Variable Characters

(a) 255 (b) 256

(c) 128 (d) 127

Comp. Sc. (XI)DDKKHA [ 4 ]

(a) OMR 2

(b) MICR 2

(c) 3

3. (a) (1101)
2
 – (1010)

2
 2’s complement 

(b) (AB.CP)
16

 Decimal 

(c) (11011010)
2
 

(a) 4

(b) 1

(c) ASCII Code. 2

4. (a) F =   (0, 2, 4, 6, 7) Logical expression

(b) CBACBACABBCAABCF   truth table

4+3

(a) F (1, 2, 3, 6, 7) Logical expression

4

(b) CBACBACBAABCBCAF 
3

5. (a) Visual Basic Variable 1

(b) Simple calculator Program VB Form Design

Coding 6

(a) Visual Basic Command Button 1

(b) Temperature conversion

program VB 6.0 

Form Design Coding 6



4. Macro 

5. OLE 

6.    816 ?C5AB 

7. Save Save as 

8. Slide Sorter view 

9. VB6 Msg Box ( ) function 

10. BAABF   Logic Circuit 

11. Visual Basic  data type 

12.      222 ?1110.101 

13. Simplify CBAABCBCAF 

14. Visual Basic  string variable Declare 

Group - C

C. 7×4=28

1. (a) block diagram

(b) 5+2

(a) 3

(b) 2

(c) SRAM DRAM 2

2. (a) 5

(b) 2

Comp. Sc. (XI)DDKKHA [ 3 ]Comp. Sc. (XI)DDKKHA [ 2 ]

7. Visual Basic 

(a) Low Level Language (b) High Level language

(c) Assembly Language (d)

8. slide Layout 

(a) View (b) Format

(c) Edit (d)

9.    216 ?DC 

(a) (11001001)
2

(b) (10011001)
2

(c) (11011100)
2

(d) (11001101)
2

10. Max term 

(a)  (b) 

(c)  (d) 

11. (11110)
2

(a) 37 (b) 36

(c) 35 (d) 34

12. Transition

(a) Home (b) Insert

(c) Design (d) Animatins

Group - B

2. 1×10=10

1. Cache memory 

2. Virtual memory 

3. Place holder 



1.

1×12=12

(i)

(a) (b)

(c) (d)

(ii)

(a) 7 (b) 3 

(c) 2 (d)

(iii)

(a) 1932 (b) 1956 

(c) 1872 (d) 1912 

(iv)

(a) (b)

(c) (d)

(v)

(a) 2004 (b) 2010

(c) 2011 (d) 2013

(vi)

(a) BSNL (b) Infosys

(c) Wipro (d) General Electric Co.

(GEC)

DUM DUM K. K. HINDU ACADEMY (H.S.)

Half Yearly Examination  — 2019

BUSINESS STUDIES

Time : 2.15 Hrs. Class - XI F.M. - 50

Busin. Studies (XI)DDKKHA [ 4  ]

(ii)

(iii)

(iv)

4. 6×2=12

(i) 3+3

(ii)

3+3



2.

3.

4.

5. IFSC’

6. BPO 

KPO 

7.

8.

9.

10.

3. 4×4=16

(i)

Busin. Studies (XI)DDKKHA [ 3  ]Busin. Studies (XI)DDKKHA [ 2  ]

(vii)

(a) (b)

(c) (d)

8. RTGS 

(a) Right Time Gross Settlement

(b) Right Time General Settlement

(c) Right Time General Service

(d)

9.

(a) (b)

(c) (a) (b) (d)

10.

(a) (b)

(c) (d)

11.

(a) (b)

(c) (d)

12. FDI 

(a) Foreign Direct Investment

(b) Federal Direct Investment

(c) Finance Department of India

(d) Foreign Direct Income.

2. 1×10=10

1.



1. 1×12=12

(Choose the correct alternative)

1.1 (Accounting)

(a) (b)

(c) (d)

1.2

(a) (b)

(c) (d)

1.3

(a) (b)

(c) (d)

1.4

(a) IASB (b) ICAI

(c) ICSI (d) ICWAI

1.5

(a) Assets = Liabilities

(b) Assets = Capital – Liabilities

(c) Assets = Capital + Liabilities

(d) Liabilities = Capital + Assets

DUM DUM K. K. HINDU ACADEMY (H.S.)

Half-Yearly Examination  — 2019

ACCOUNTANCY

Time : 2 Hrs. Class - XI F.M. - 50



2.

1×6=6

(i) (Current Assets) 

(ii) (Journal)

(Creditor’s Ledger)

(iii) (Double Column Cash book)

(Sales Return Book)

(iv) (Trial Balance)

(Suspense Account)

(v) (One-sided Errors)

(Errors of commission)

(vi) ‘IFRS’-

‘ASB’-

3. 4×2=8

(i) Redraft correctly the following trial balance as on 31st

March, 2019.

Trial Balance

Debit Balances Rs. Credit Balances Rs.

Debtors 4,00,000 Capital 4,00,000

Furniture 40,000 Drawings 90,000

Purchase 12,50,000 Discount Allowed 8,000

Motor Van 1,20,000 Machinery 1,00,000

Bank Loan 1,00,000 Creditors 1,60,000

Acct. (XI)DDKKHA [ 3 ]

(ii) Sales Book was under cast by Rs. 800.

(iii) Discount allowed Rs. 150 was credited to discount received

Account.

(iv) Rs. 750 paid to Akash but debited to Rohit as Rs. 650.

(b) (Accounting) (Accountancy) 

4+2

(iii) From the following transactions prepare a purchase Day Book

for Apurba Book Stores :

2018

Feb. 5 Purchased books on credit from M/S. ABC &  Co. 20

copies of Business studies @ Rs. 200 each. 25 copies of

Accountancy @ Rs. 250 each. Trade discount @ 10%.

Carriage Rs. 300 as per Invoice No. 607.

Feb. 7 Purchased books on credit from M/S. PQR & Co.

10 copies of ‘Costing & Taxation’ @ Rs. 300 each 15

copies of ‘Mathematics’ @ Rs. 200 each. Trade discount

@ 10%.

Carriage Rs. 400 as per Invoice No. 713.

Feb. 10 Purchased books on cash from M/S. Roy Bros. 25 copies

of Economics @ Rs. 350 each.

Feb. 15 Purchased books on Credit from M/S. XYZ Pvt. Ltd.

20 copies of Law & Audit @ Rs. 150 each. 15 copies of

computer Application @ Rs. 250 each Trade discount @

10%.

Carriage Rs. 200 as per Invoice No. 517.

Feb. 20 Purchased a computer on Credit from. M/S. Joy

Electronics for Rs. 40,000.

Acct. (XI)DDKKHA [ 6 ]



Acct. (XI)DDKKHA [ 2  ]

1.6

(a) (b)

(c) (d)

1.7 ‘Credit’ 

(a) Creditor (b) Credere

(c) Creditum (d) Cr.

1.8

(a) (b)

(c) (d)

1.9

(a) (b)

(c) (d)

1.10

(a)

(b)

(c)

(d)

1.11

(a) (b)

(c) (d)

1.12

(a) (b)

(c) (d)

(Distinction between

trade Discount and Cash Discount)

(iv) From the following particulars prepare a Cash Book with suitable

columns :

2018 Rs.

Dec. 1 Balance in hand 8,000

Bank balance with DENA Bank 50,000

Overdraft balance with AXIS BANK 30,000

Dec. 5 Cash Sales of goods 16,000

Dec. 8 Paid Salary to staff by cheque on DENA Bank 20,000

Dec. 10 Cheque received with AVIK

deposited with AXIS BANK 19,000

Dec. 15 Amount transferred from

DENA BANK to AXIS BANK by cheque 7,000

Dec. 17 Cash deposited into DENA BANK 11,000

Dec. 20. Paid rent 2,000

Dec. 25. Withdrawn from DENA BANK 5,000

Cash Book

Acct. (XI)DDKKHA [ 7 ]



Stock (01.04.18) 2,08,000 Sales 17,16,000

General Expenses 1,00,000

Wages 60,000

Stock (31.03.19) 1,96,000

24,74,000 24,74,000

(Journal) (Ledger)

(ii) The machinery account of a business showed a balance of Rs.

1,20,000 on 01.01.2018, Depreciation is written off at 10% per

annum under the diminishing balance Method.

On 01.07.2018, the old machine was sold for Rs. 75,000 and on

the same date another machine was pruchased for Rs. 2,50,000.

Prepare Machinery Account for the year ended 31.12.2018

(depreciation) 

4. 6×4=24

(i) From the following information prepare a Bank Reconciliation

Statement of M/S XYZ Ltd. as on 31st December 2018.

(a) Bank balance as per Pass book (credit) Rs. 30,000.

(b) The debit balance of Cash book of Rs. 1000 has wrongly

been shown as credit balance.

(c) A cheque of Rs. 4000 deposited into bank on 20th

December but not credited in Pass book.

(d) Bank wrongly credited by Rs. 3000 but no reversal entry

has been passed.

(e) Bank charge of Rs. 200 was not recorded in the Cash

book.

Acct. (XI)DDKKHA [ 4 ]

(f) Cheque issued for Rs. 10,000 but not presented to bank

till 31st December 2018.

(Need of Bank

Reconciliation Statement)

(ii) Pass Journal entries for the following transactions Ashim started

a new business on 1st March 2018. with : Building Rs. 5,00,000;

Machinery Rs. 2,00,000 ; Furniture Rs. 1,00,000 ; Cash Rs.

1,00,000.

2018 Rs.

Mar. 2. Purchased goods on credit from Nirmal 30,000

Mar. 5. Paid wages and salaries 20,000

Mar. 7. Opened a bank account with cash 20,000

Mar. 10. Returned goods to Nirmal 3,000

Mar. 13. Paid to Nirmal in full settlement 26,000

Mar. 15 Goods sold for cash 30,000

Mar. 17 Sold goods to Samir on credit 40,000

Mar. 19 Goods returned by Samir 5,000

Mar. 21 Received from Samir in full settlement 34,000

Mar. 23 Paid life insurance premium by cheque 4,000

Mar. 25 Paid one month’s rent 2,000

Mar. 30 Purchased a machinery 50,000

Paid carriage on above purchase 500

Mar. 31 Withdrawn from bank for office use 6,000

(a) The following errors have been detected after preparation of

trial Balance. Rectify these errors.

(i) Purchase of Furniture for Rs. 2500 passed through

purchase Book.

Acct. (XI)DDKKHA [ 5 ]
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Half-Yearly Examination  — 2019

CHEMISTRY

Time : 2  Hrs. Class - XI (Science) F.M. - 50

A. 1×10=10

1.

(a) N
2

+   (b) CO   (d) O
2
–   (d) NO

2.

(a) STH      (b) STH 

(c) STH     (d) STH 

3. 3l,4n 

(a) 10   (b) 12   (c) 14    (d) 16

4.

(a) 22
2

2 NNN


   (b) 2
2

22 NNN


 (c) 2
2
2

–
2 NNN 

  (d) 
 2

222 NNN

5.

(a) 2N   (b) 2O  (c) 2CO     (d) 2H

6.

(a) HCLNHHC 256    (b) HCLNCONHNHH 22 
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(iii) Ca (OCl) Cl Cl 

(iv) –I

I, Br,  Cl, F

(v) Na, Mg, Al Si-

(vi) 100 ml CO
2

100 ml NH
3

Group - B

C. 2×5=10

1. 42.9% 27.3%

2. H –13.58 ev

o

A1

3. CH
3
COOH HCOOH-

CH
3
CN 

4.

5. PCl
5
- NCl

5
 

NH
3
 NF

3

Group - C

D. 3×8=24

1. BF
3 

[BF
4
]–

BCl
3
 CCl

4
 3

2. Fc2+ Fc3+

1+2=3

3. (i) Ni(CO)
4
 Ni-

(ii)

 OHSnOMnOOHSnOMnO
–

322
–

2
–

4

4. (i) 1+2=3

(ii)

      KJ396H,gCOgOSC 22 

    KJ287H,lOHgO
2

1
)g(H 222 

       ,lOH2gCO2gO3gHC 22242 

KJ1400H 

(i) nRTqq vp 

(ii) C (graphite) C (diamond)

C (graphite) C (diamond)

–391.6 KJ mol–1 –393.5 KJ mol–1 1+2=3
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(c) HCL.OHNH2     (d) 

No2

No2

7.

(a) 2NO   (b)   424 SONH  (c) 2N    (d) 2CO

8.

(a) 11molK    (b) 11molJk     (c)   1molJ 

(d) 111 molKJ 

9.

(a) 1   (b) 
RT

Pb
1    (c) 

RT

Pb
1    (d) 

Pb

RT
1

10. n-

(a) n,   (b) n2   (c) 2n2   (d) (n – 1)

Section - II

Group - A

B. 1×6=6

(i)   210
18 $4d3AR

(ii)

5. (i)

(ii)

(iii) P (v – b) = RT

1+1+1=3

6. (i) 1+2=3

NO
2
,  Al

2
O

3
,  SiO

2
,  ClO

2

(ii) Be Al

7.

(i)

(ii) H
2
SO

4
 180°C 

8. (i) IUPAC 2+1=3

(a)

OHCH

|

OHCH

|

OHCH

2

2

2





      (b) OHCH

Br
|

H

|
CCl 2

(ii)

5-



DUM DUM K. K. HINDU ACADEMY (H.S.)

Half-Yearly Examination  — 2019

PHYSICS

Time : 2.15 Hrs. Class - XI F.M. - 50

Group - A

MCQ 1×10=10

1. ABCD

v

A u

B

(a) 









 u
sin 1

   (b) 






 

u
cos    (c) 










 u
cos 1

(d) 






 

u
sin 1

2.
21 a,a

3aa 21     2121 aa2.aa 

(a)  
2

1
    (b) 1   (c) 

2

3
    (d) 2

3. 40g 120m/s 

144N 

5

r4

28.  t s



29.

m
1
 = 1kg, m

2
 = 2kg 

M m
1

30. 100m 

A B

B A 0.1m

[ g = 9.8m/s2 ]

c

b

a

B C

A B

u

v
M

m2

m1

Physics (XI)DDKKHA [ 6 ]



(a) 
P

R
t   (b) 

P3

R
t    (c) 

P2

R
t   (d) 

P3

R
t

9. r 

P = S

(a) 
rpg

S2
   (b) 

rpg

S4
   (c) 

rpg2

S
   (d) 

rpg

S6

10.  0°C P

°C 

(a) 
 

1P

   (b) 
 




1P

   (c) 


1

P

(d) 



1

P

Group - B

2×5=10

11. t
1
, t

2

t
3

v
1
, v

2
v

3

21

32

12

23

tt

tt

vv

vv








12. b,a c

RQ = 2PR

b,a c

13. r

14. m
1

u
1 

m
2

u
2 

15.

16.

17.

Group - C

3×5=15

18.

1 2 0°C

0l

19.

20. 3.6 mm.

2.5 mm. 4 mm

40°C

21. A, B C

14°C, 24°C 40°C A B 20°C

B C 34°C

Physics (XI)DDKKHA [ 4 ]Physics (XI)DDKKHA [ 3 ]

Q

R

P

a

b
c
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(a) 2      (b) 3     (c) 5    (d) 8

4. 

t 

(a) t   (b) 



1

t   (c) t    (d) 



1

t

5. R = 2.5

a = 15m/s2

(a) 6.2 m/s  (b) 4.5 m/s   (c) 5.0 m/s   (d) 5.7 m/s.

6. n r

(a) 2

1n

r



   (b) 
nr    (c) 2

1n

r



   (d)  
nr

7. 0.5

4%

(a) 1%   (b) 2%   (c) 2.5%    (d) 4%

8. R t (<<R)

P

22. 3 m/s

2.5cm2

0.8 m 

[ g = 10m/s2 ]

23. R r n-

= S.

24. P 

w

= L.

Group - D

5×3=15

25. m 

l.

26. m
1

m
2 

t x

21

21

2

mm

mm

t

x

2

1











27. r 

R

a

30°



DUM DUM K. K. HINDU ACADEMY (H.S.)

Half-Yearly Examination  — 2019

ENGLISH

Time : 2 Hrs. Class - XI F.M. - 50

1. Complete any 2 sentences, choosing the correct answers

from the alternatives given : (2×1)

(a) Leela as a child was :

(i) fidgety  (ii) playful   (iii) whimsical   (iv) whining

Or,

(b) Leela gave Sidda the catalogue to-

(i) Read it  (ii) copy the letters,   (iii) write his name on it

(iv) Keep it

(c) " The arrival of the train did not disturb Sir Mohan Lal's

"sang-froid"; Here 'sangfroid' means-

(i) sleep,   (ii) composure,    (iii)anxiety,   (iv) sanguineness

Or,

(d) Sir Mohan's treatment of Lachmi was-

(i) considerate and kind,   (ii) considerate but unkind,

(iii) indulgent and courteous, (iv) indifferent and unsympathetic

2. Answer any 2 of the following questions in a single

sentence : (2×1)

(a) How did Sidda put Leela to sleep?

Or,

(b) Why did Sidda vanish into the night?

(c) What was Sir Mohan's remark about the mirror in the waiting

room ?

Or,

(d) In which class were the soldiers entitled to travel?

Eng. (XI)DDKKHA [ 4 ]

B. Fill in the blanks with appropriate articles and prepositions:

(½×6)

The train steame      1       , Lachmi found herself facing

     2       almost empty inter-class zenana compartment

next       3       the guard's van,      4       the tail

end      5       the train. The rest of      6       train was packed.

10. Write a paragraph in about 150-200 words on a Festival

you enjoy. (10)

[Hints : Name of the festival-season-time of the year-how its

celebrated-your feelings]

Or,

Develop the following outline into a short story in about

150-200 words. Add a title to the story. (9+1)

[The wheels of a cart sank into mud- the carter whipped the

bullocks in vain- prayed to God for help-God appeared-asked

him to put his own shoulder to the wheel- the cart moved]

11. You have an old car which you want to sell. Draft an

advertisement for the classified column of an English daily in

not more than 50 words announcing the same with necessary

details of the car. 5

Or,

You want to provide accommodation to paying guests in your

house. Draft an advertisement for the classified column of an

English daily in not more than 50 words giving details of the

accommodation.

12. A mobile store is opening shortly in our locality. Prepare a

commercial leaflet in not more than 50 words providing relevant

informations. 5

Or,

Prepare in 50 words a commercial leaflet for the upcoming

tour programme's of a Travel Agency.
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3. Answer any one of the following questions : (4×1)

a) 'Doesnt seem to be a bad sort'- Who said this? Why was he

"unable to make up his mind"? (1+3)

b) Describe the encounter of Sir Mohan Lal with the English

soldiers. (4)

4. Complete any two sentences, choosing the correct answers

from the alternatives given: (2×1)

a) The 'mighty heart' refers to -

i) God,   ii) the river,   iii) the field and the sky ,

iv) the city of London

Or,

b) The poet is particularly impressed by the -

i) calm and quiet atmosphere ,  ii) first splendour of the sun,

iii) flowing river,    iv) smokeless air

c) In 'slushy sand' here the word 'slushy' means-

i) slippery,    ii) hard,    iii) muddy,    iv) wet

Or,

d) What appears after crossing three fields-

i) a mansion,  ii) a tower,   iii) a harbour,   iv) a farm

5. Answer any 2 of the following questions in a single

sentence : (2×1)

a) What is described as the garment of the city?

Or,

b) Why do all things look bright and glittering?

c) How does Browning describe the half moon?

Or,

d) How are the fiery ringlets formed?

6. Answer any one of the following questions : (4×1)

a) "A sight so touching in it majesty"- What is the sight referred

to here? How does the poet describe the sight? (1+3)

b) What does the speaker observe in the course of his journey

to the farmhouse in the poem “Meeting at night"? What does

he do after reaching there? (3+1)

7. Complete any TWO sentences, choosing the correct

answers from the alternatives given: (2×1)

a) Aegeon had to stay, in Epidamnum for-

i) two years, ii) one year,  iii) more than six months

iv) six months

b) The fishermen who saved Aegeons's wife and elder sons

were most probably from-

i) Illyria   ii) Edinburgh   iii) Corinth  iv) Cyprus

c) Antipholus Younger pretended to be the merchant of-

i) Syracuse ii) Epidamnum  iii) Ephesus iv) Corinth

d) The place of the shipwreck was to coast of-

i) Elysium,   ii) Illyria,   iii) Endropia,   iv) Ethiopia

8. Answer any one of the following questions : (5)

a) Rewrite in your own words the story of Aegeon's life.

b) What made Aegeon land at Ephesus? What dangers did he

face there? (2+3)

9. A. Rewrite the following sentences as directed without

changing the meanings: (4×1)

a) "Tell me a story, Mother", Leela said.

(Change the mode of narration)

b) They picked up Sir Mohan's suitcase.

(Change the voice)

c) The mirror was obviously made in India.

(Split into two sentences)

d) Leela's face became red.

(Rewrite using the verb form of 'red')
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Half Yearly Examination  — 2019

SANSKRIT

Time : 2.15 Hrs. Class - XI F.M. - 50

1. 1×15=15

(i)   (ii)  (iii)  (iv) 

(i)   (ii)  (iii)  (iv) 

(i)   (ii)  (iii)  (iv) 

(i)   (ii)  (iii)  (iv) 

(i)   (ii)   (iii)  (iv) 

(i)   (ii)  (iii)  (iv) 

(i)   (ii)  (iii)  (iv) 

(i)   (ii)  (iii)   (iv) 

(i)  (ii)  (iii) 

(iv) 



5. 5×1=5

6. 4×1=4

7. 1×2=2

+ + + +

8. 1×2=2

9. 1×2=2

10. 1×2=2

 

11. 1×3=3

Sanskrit (XI)DDKKHA [ 3 ]Sanskrit (XI)DDKKHA [ 2  ]

(i)  (ii)  (iii)  (iv) 

(i)   (ii) (iii)  (iv) 

(i)      (ii)   (iii)  (iv) 

(i)  (ii)  (iii)  (iv) 

(i)   (ii)  (iii)  (iv) 

(i)   (ii)  (iii)  (iv) 

2. 5×1

3. 5×1=5

4. 5×1=5



1. 1×10=10

(i)

(a)  (b) 

(c)        (d) 

(ii) Impact 

(a) wet liquid ink   (b) mechanical impact

(c) static memory  (d) dynamic memory

(iii) Memory

(a) Volatile memory  (b) Non-volatile memory

(c) static memory  (d) Dynamic memory.

(iv) Read/Write head track track

(a) access time     (b) Seek time

(c) Rotational time  (d) Transfer

(v) 23 BCD

(a) (0010’0011)    (b) (10001100)

(c) (00110010)    (d) (010011)

DUM DUM K. K. HINDU ACADEMY (H.S.)

Half Yearly Examination  — 2019

COMPUTER SCIENCE

Time : 2 Hrs. Class - XI F.M. - 50



(xii) for (; ;) infinite loop option

terminate 

(a) break  (b) exit (o)   (c) abort  ( )  (d) terminate

2. 12 1×12=12

(i)

(ii)

(iii) Impact Printer 

(iv) DRAM SRAM

(v) USB-

(vi) OCR 

(vii) radix 

(viii) ISCII 

(ix) Fixed Floating point number representation

(x)

BABBAf 

(xi) 2 AND operation truth table

(xii) flow chart 

(xiii) White Do-white Loop

(xiv) a++ ++a

(xv) NEsted Loop 

3. 7×4=28

(i) (a) LOOP Pattern print

1

2 2

3 3 3

4 4 4 4

5 5 5 5 5 . . . .

(b) break continue statement

(c) Register varibale 5+1+1

(ii) (a) Recursion function c program

series 

S = 3 + 6 + 9 + 12 + ... + 3n (n )

(b) Actual argument formal argument

(iii) (a) Computer Generation 

(b) Mulitmedia 4+2+1

(iv) (a) System Bus Address Bus, Data Bus Control

Bus 1+9

(b) Digital Computer Block Diagram 

3

(v) (a) (234)
8
 + (537)

8

Computer Sc. (XI)DDKKHA [ 4 ]Computer Sc. (XI)DDKKHA [ 3 ]



(b) 2’s complement 

(10110100)
2
 – (11001)

2

(c) Base 8 (ABC)
16

2+3+2

(vi) (a) 1’s complement 

(1101101)
2
 – (1111000)

2

(b) Base 10 (0.11011)
2

(c) (1010)
2
 × (101)

2
3+2+2

(vii) (a) De-Morgan Truth Table

(b) Truth table SOP 

  7,6,5,3f 4+3

Computer Sc. (XI)DDKKHA [ 5 ]Computer Sc. (XI)DDKKHA [ 2 ]

(vi) ‘A’ ASCll 

(a) 97   (b) 1    (c) 65   (d) 122

(vii) –110010 8 1’s complement 

(a) 11001110   (b) 10001101   (c) 11001101

(d) 00001101

(viii)  yx  complement 

(a) yx                 (b) yx

(c) xy                 (d) yx

(ix) Max-term 

(a) 3   (b) 2  (c) 1   (d) 0

(x) ‘C’ valid variable 

(a) int number   (b) float rate   (c) int variable-count

(d) int $main

(xi) C output 

# inclue <studio.n>

int main ( )

{ int i = –5 ;

i = i/3 ;

print f (“5d\n”, i) ;

return o : ?

(a) Implemention defined  (b) –1,  (c) –3  (d) compile error.


